o. (V11 -/5)*=6

=> (VIT+V5) =2

A) 6 B) 6~ C) 6+
32X
10. 2 =
1
= 1 x=?
6
64 3 9 19
11. 140 =2
78=5
= 140 -ba_»
A) 2 B) 5 C)7 D) 14

A) - 11 B)-10 C)-9 D)-8

4-C 5-B 6-A 7-C

D) 62X

Uslii ifadeler / Exponential Expressions

13. x#y
3X+Y _gXx+2y _gx+2  ay+2_

= X+y=?

A) 0 B) 1 C)2

D)3 E) 4
14. ag X 1o 9B
141—X
= x=?
A) -2 B) -1 C)o D) 1 E)2
15 x=32-2
y=4+92
= y=?
A)x2+4x+8 B)x2+4x C)x2—4x+8
D) x% - 4x + 4 E) x° — 4x— 4
16. a-=2
5
b_g15
= a.b=?
A) 3 B) 5 C) 15 D) 21 E) 45

10-E 11-B 12-C 13-C 14-E 15-A 16-E




Koklii ifadeler / Radical Expressions

1. Y3 -v2)*. (V3+42)=2

A) 1 B) 2 C)V3++2 D) V6 E) 4

3
5. \/129—1/261 ~v23+%10+¥-8="

A) 9 B) 8 C)7 D) 6 E)5
2. JWT-32+ VT -2 +V2=2 6. 3/121 442043 60 - ez =2
A) V7 B) 3 C)4 D) V17 E) V42 A) 9 B) 8 C)7 D) 6 E)5

3. /é.;.%:? 7. 5=v21+V9+Vx-5

= x=?
A)2—54 B)% C) 1 D)% E)%
A) 44 B) 49 C) 54 D) 56 E) 58
4, /20+J29-J13+J§=? 8. Jior s
Ja2 . /51
A2 B) 3 C) 4 D)5 E)6

m|§‘

AY5 B)12/8 C) Vsl D)V7I  F)




Carpanlara Ayirma / Factorising

204.103 +204.107 _, 5 3x%y +4xy®
102.99 + 111.102 ~ ) Xy -
A) 204 B) 102 C) 99 D) 2 E) 1 A) 3x + 4y B) 3x — 4y C)3x -y
D) 4x - 3y E) 4x + 3y
6xy+9xy2 =9 6. 8x — 2xy =2
2 + 3y 3x%y - 12x2
A) - 5xy B) - 3xy C) 2xy p-2 B) - X o) -2
2 2 3
D) 3xy E) xy
D)-i E)-i
2x 3x
2 - -
3. a+a =2 7. 3a 3b+4a 4b+ b+a =2
ad + a2 a-b 2b-2a 3a+3b
1 1 1 Al B E C) 1 D i E i
A)? B)¥ C); D) 1 E)a )3 )3 ) )3 )3
2 3 2 _ w2 3,2
g, 1rara+a 4, g, 20 (x-y° Xy _,
a+1 xy X-y x%y?
A)a+1 Bja C)a-1 D) a2 + 1 E) a® Ay - 4x B) y + 4x C) x — 4y
D) x + 4y E) 4x + 4y




Mutlak Deger / Absolute Value

1. x| = [x=1| 5. |x+3| +|y+5|=0
= x=? = (X+y)=?
A)% B) 1 C) 2 D)% E)3 A) -12 B) -10 C)-8 D) 0 E)8
2. |x+3|=]x—5| 6. |x+2|+|2x—4|=0
= x=? = S8S8.=?
A0 B) 1 C)2 D) 3 E) 5 A {-2} B) {0} c) {2} D) @ E)R
3. |2x + 7| = |x - 3] 7. X% - 4| = |x+2]
= S.5.=? = S.8.=?
A {-10,3} B) {3} C) {10} A {-2} B) {3} c) {1, 3}
{ 4} { 7 } D) {-21,3} E) {-2 3}
D)<{-10, - — E)<{-—3
3 2
4. |3x - 1] = [x + 5] 8. Ix+y-5|+|2x-y-4|=0
= S.S8.=? => x.y=?
A) {—5, 1—31} B) {% 8} c) {- 5,8} A2 B) 3 C) 4 D)5 E) 6
3 11
D){??} E) {8}
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Fonksiyonlar / Functions

8. -1<a<3, a€ER, 11. y

— h(x)
il X X+4 f(x) = 0
8 9 =
2x-3, f(x)<0
L f@) < g(a) = f(a) > h(a) = 909(4) =72
Il. 1@ <h(@) = fa) > g(@) A 8 B)9 C) 10 D) 11 E) 12
lll. f(a) < h(a) = h(@) > g(a)
ifadelerinden hangileri dogrudur?
Which of the statements is always true?
A) Yalniz | B) I ve Ill C) Il ve lll 12. y
D) Yalniz lll E) I, llve lll 3
1 f(x + 2)
\1 2 37 X
-4 -2
-2
9. f(x) - fy) = f(x +y)

1@ _4 70 +17¢2) _,

f2) f(2) + 1(5)

f(4) .1(8) _., A3 B) 4 C)6 D) 8 E)9

f(16)
1 1
A) 81 B) 9 C)1 D) 3 E) -
13.
7 X
10. ,g:R—R, a,bER

f)=ax+3, (f+09)(2=g(1) 5 Ty

g(x) =ax=b, (f-9)@3) =f0)
= g@) =2 - @+ _,

(1) + £71(3)

A) -4 B) -3 C)-2 D) 2 E) 4 L g1 G D)3 £s

248 1-D 2D 3-A 4-c 5B 6-C 7-E 8-E 9-D 10-A 11-B 12-E 13-B




Problemler / Problems

Bir kimesteki tavuklarin sayisi 6érdeklerin sayisinin yari-
sidir. 8 6rdek satildiginda ise kalan tavuk ve érdeklerin
sayisi esit olmaktadir.

Buna gére, baslangicta kiimeste ka¢ kanatlh hayvan
vardir?

In a coop, the number of chicken is the half of the number
of ducks. If 8 ducks are sold, the numbers of chicken
and ducks will be the same.

Accordingly, how many chicken and ducks were there
in the coop at the beginning?

Kadin ve erkeklerden olugan bir gezi grubu 49 kisidir.
Gruba 11 kadin daha ilave oldugunda gruptaki erkek sa-

yisi grubun % Une esit olmaktadir.

Buna gére, baslangicta grupta ka¢ kadin vardir?

A group of 49 people consists of men and women. If 11
women are added to the group, the ratio of men in this
group will become %

Accordingly, how many women were there in the group
at the beginning?

Bir anaokulunda 3 yasinda 12 cocuk, 4 yasinda 15 ¢o-
cuk vardir.

Buna gére, bu anaokuluna 3 yasinda ka¢ ¢ocuk da-
ha gelirse 3 yasindaki ¢cocuklarin yaslarinin toplami
4 yasindaki cocuklarin yaglari toplamina esit olur?
In a kindergarten, there are 12 three years old children
and 15 four years old children.

Accordingly, how many three years old children have
required for the sum of the ages of three years old
children to be equal to the sum of four years old children?

Herguin bir dnceki ginden 5 sayfa fazla kitap okuyan bir
6grenci kitabi 8 ginde bitirmistir.

Kitabin % i1 60 sayfa olduguna gore, 6grenci ilk 3
glin kac sayfa kitap okumustur?

A student had read 5 more pages than the previous day
and finished a book in 8 days.

If % of this book is 60 pages, how many pages did he

read in the first 3 days?

Her birinin icinde 18 adet ¢ikolata bulunan 15 paket ci-
kolata vardir.

Toplamdaki cikolata sayisi degismemek kosuluyla
her bir paketin icindeki ¢ikolata sayisi 12 arttirilsay-
di paket sayisi kag azalirdi?

There are 15 boxes each of which contains 18 chocolates.

If the number of chocolates in each box is increased by
12, how many boxes are decreased?

A) 6 B) 7 C)9 D) 11 E) 14

Her guin 12 lira mutfak masrafi ¢cikaran bir ev hanimi elin-
deki parayla 77 gunlik mutfak masrafini kargilamakta-
di.

Buna gore, mutfak masrafi 14 liraya ¢iktiginda top-
lamda ayni parayla kag¢ giinliik mutfak masrafi karsi-
lanabilir?

If a housewife meets daily expenses of the kitchen by
12 TL, her money is sufficient for 77 days.

If daily expenses of the kitchen are to 14 TL.

Accordingly, how many days does her money suffice for
these expenses?
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A muslugu bos bir havuzu 3 saatte doldurmakta, B mus-
lugu ise dolu havuzu kendi seviyesine kadar 6 saatte bo-
saltabilmektedir.

Buna gore, A ve B musluklar bu havuzu kag saatte
doldurabilir?

Faucet A fills an empty pool in 3 hours but faucet B
empties the part of the full pool to its level in 6 hours.
Accordingly how many hours are necessary for both
faucets to fill this pool together?

A) 2 B) 3 C)% D) 4 E)%

A muslugu bos bir havuzun tamamini 6 saatte doldur-
makta, B muslugu ise ayni havuzun tamamini 9 saatte
bosaltmaktadir.

Buna gore, B muslugu havuzun yerden yiiksekligi-
nin % Ui kadar bir yiikseklige konursa A muslugu ile
birlikte havuzu ka¢ saatte doldurabilirler?

Faucet A fills an empty pool in 6 hours but faucet B
empties a full pool in 9 hours.

Faucet B is located in the height which is % of the height
of the pool from the ground. Accordingly, how many

hours does it take for both faucets to fill the pool together?

1-B 2-A 3-B 4-E

Problemler / Problems

5-C

- >
- @

h{
Bos bir havuzu A muslugu tek basina 10 saatte, B mus-
lugu ise 4 saatte doldurabilmektedir. Havuzun yari yUk-

sekliginde bulunan bir C muslugununda havuzun tama-
mini bosaltma suresi 8 saattir.

Buna gore, bu ii¢ musluk havuz bosken agildiginda
havuz kag¢ saatte dolar?

Faucet A fills an empty pool in 10 hours and faucet B
fills it in 4 hours. Faucet C which is located at the halfway
empties a full pool in 8 hours.

Accordingly how many hours does it take for three faucets
to fill this pool together?

115 B 230 c 229 D 220 E 219

A) —= fhl £ fo=x- £=
) 32 63 63 63 63

o
——
4>

B

T

h C
i

e |

Ozdes olan A, B ve C musluklar bulunduklari noktalar-
da olmak kosulu ile dolu havuzu bosaltmaktadirlar.

Her birinin tek bagina bosaltma kapasitesi 36 saat ol-
duguna gére, verilen kosullarda havuz kac saatte bo-
salir?
Three identical faucets A, B, C are located as shown in
the figure. Each faucet can empty a full pool in 36 hours
alone.

Accordingly how many hours are necessary to empty
the full pool if all 3 faucets are opened together?

6-C 7-B 8-B 9-E




iki kisinin sermaye koyarak olusturdugu bir sirkette A ki-
sisi sermayenin %’unu, geri kalanini da B kisisi koy-

mustur.

Buna gére, B kisisi A kisisinin koydugu sermayenin
ylzde kagi kadar fazla sermaye koymus olur?

Person A and person B establish a company together.
% of whole capital is given by person A and remaining
is given by person B.

What percent of the capital given by A is equal to the
capital given by B?

A) 100

Bir okuldaki erkek 6grencilerin sayisi, kiz 6grencilerin
sayisinin % 30’u kadardir.

Bu okuldaki erkek 6grenci sayisi 30°dan ¢ok oldu-
guna gore, en az kag kiz 6grenci vardir?

The number of male students in a school is 30% of female
students.

If the number of male students is more than 30, what is
the least number of female students?
A) 110 B) 112 C) 113

D)114  E) 115

A okulundaki 6grencilerin % 72’si kiz, B okulundaki 68-
rencilerinde % 42’si kizdrr.

A ve B okulundaki tiim 6grencilerin % 58’i kiz oldu-
guna gore, A okulundaki 6grenci sayisi B okulunda-
ki 6grenci sayisinin kag katidir?

The number of female students is 72% in school A but
this number is 42% in school B.

If the number of all female students in schools A and B
is 58%, what is the ratio of numbers of all students in
school A to B?

A) = B) 1 C)% D)% E)

1-B 2-A 3-B 4-A 5-C

Problemler / Problems

Mehmet parasinin %’ini yilik % 60, kalanini yillik % 25

10.

basit faizle 4 ayligina bir bankaya yatiriyor. Eger Mehmet
parasinin %’ini % 25, kalanini da % 60 basit faizle 4 ay-
ligina bankaya yatirsaydi 140 TL daha fazla faiz geliri el-

de edecekti.

Buna gére, Mehmet’in toplam parasi kag liradir?

Mehmet deposits, % of his money with 60% annual
simple intevest rates but the rest with 25% annual simple
interet rates in a bank for 4 months. If Mehmet deposited
% of his money with 25% annual simple interest rates
but the rest with 60% annual simple interest rates in the
bank for 4 months, he would get 140 TL more interests.

Accordingly, what is the total amount of Mehmet’s
money?
A) 1200

B) 2400 C) 4600

D) 5800 E) 6000

y (faiz orani %)

x (yil)

Yukaridaki grafikte bir bankanin ciftcilere uygulayacagi
3x + 45

basit faiz oranini belirleyen y =
y y X+ 1

bagintisinin
grafigi verilmistir.

Buna gére, kacinci yildan sonra yillik faiz orani % 9’un
altina duser?

In above graph, annual simple interest rates applied to
3x + 45

X+ 1
Accordingly, after which year do annual simple interest
rates become less than 9%?

farmers illustrated by the formula y =

A) 6 B) 5 C)4 D)3 E) 2

6-C 7-A 8-A 9-E 10-A




